BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 1468 CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS JANUARY 07, 2025 LIA ENGINEERING, INC. A. GUIJOSA JANUARY 07, 2025 3141-3007 & 3141-3008 (9.2) -C++

	BIDDER NAME	BASE BID	ALTERNATE BID FOR PAVING PLUS BASE BID	PROPOSED DURATION (DAYS) BASE BID	PROPOSED DURATION (DAYS) BASE BID PLUS ALTERNATE BID
1) LEXTO	N CONSTRUCTION, LLC	\$1,826,046.30	\$2,719,596.15	45 \ 55	90 \ 100
2) TEXASI	TE, LLC	\$1,910,236.00	\$2,825,296.15	50 \ 60	100\110
3) R CON	STRUCTION CIVIL, LLC	\$1,998,720.30	\$2,882,814.90	90 \ 90	120 \ 120
4) CE BAF	KER LTD.	\$2,139,133.00	\$3,306,073.00	90 \ 120	150\180
		0	6		
4	1 1		and the second	ATE OF TELL	2

I, Kenya Franco, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS JANUARY 07, 2025 LIA ENGINEERING, INC. A. GUIJOSA JANUARY 07, 2025 JIANUARY 07, 2025 JIANUARY 07, 2025

			Γ	1) LEXTON CON	STRUCTION, LLC	2) TEXAS	SITE, LLC	3) R CONSTRUCT	ION CIVIL, LLC	4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	C-900, DR 18, CLASS 235, INCLUDES FITTINGS, FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	346	\$25.30	\$8,753.80	\$26.00	\$8,996.00	\$25.00	\$8,650.00	\$30.00	\$10,380.00
	C-900, DR 18, CLASS 235, INCLUDES FITTINGS, FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	226	\$26.90	\$6,079.40	\$28.00	\$6,328.00	\$30.00	\$6,780.00	\$35.00	\$7,910.00
	C-900, DR 18, CLASS 235, INCLUDES FITTINGS, FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2307	\$36.50	\$84,205.50	\$38.00	\$87,666.00	\$40.00	\$92,280.00	\$40.00	\$92,280.00
	JOINT WATER LINE, C-900, DR 14, CLASS 305, ED JOINT FITTINGS, BEDDING AND BACKFILL, ALL IN PLACE	LF	16	\$98.30	\$1,572.80	\$89.00	\$1,424.00	\$100.00	\$1,600.00	\$135.00	\$2,160.00
	JOINT WATER LINE, C-900, DR 18, CLASS 235, ED JOINT FITTINGS, BEDDING AND BACKFILL, ALL IN PLACE	LF	38	\$42.60	\$1,618.80	\$45.00	\$1,710.00	\$55.00	\$2,090.00	\$95.00	\$3,610.00
	; C-900, DR 18, CLASS 235, INCLUDES FITTINGS, FILL, ALL DEPTHS, COMPLETE IN PLACE	LF	607	\$49.60	\$30,107.20	\$51.00	\$30,957.00	\$55.00	\$33,385.00	\$55.00	\$33,385.00
) JOINT WATER LINE, C-900, DR 14, CLASS 305, ED JOINT FITTINGS, BEDDING AND BACKFILL, ALL IN PLACE	LF	78	\$119.50	\$9,321.00	\$67.00	\$5,226.00	\$145.00	\$11,310.00	\$200.00	\$15,600.00
) JOINT WATER LINE, C-900, DR 18, CLASS 235, ED JOINT FITTINGS, BEDDING AND BACKFILL, ALL IN PLACE	LF	381	\$66.90	\$25,488.90	\$67.00	\$25,527.00	\$80.00	\$30,480.00	\$115.00	\$43,815.00
) JOINT WATER LINE, C-900, DR 18, CLASS 235, ED JOINT FITTINGS, BEDDING AND BACKFILL, ALL IN PLACE	LF	405	\$87.70	\$35,518.50	\$95.00	\$38,475.00	\$110.00	\$44,550.00	\$150.00	\$60,750.00
10. 4" AWWA GATE VAL	VE & BOX, COMPLETE IN PLACE	EA	1	\$1,317.00	\$1,317.00	\$1,139.00	\$1,139.00	\$1,400.00	\$1,400.00	\$1,100.00	\$1,100.00
11. 8" AWWA GATE VAL	VE & BOX, COMPLETE IN PLACE	EA	4	\$2,158.00	\$8,632.00	\$2,075.00	\$8,300.00	\$2,300.00	\$9,200.00	\$1,900.00	\$7,600.00
12. 10" AWWA GATE VA	LVE & BOX, COMPLETE IN PLACE	EA	3	\$3,140.50	\$9,421.50	\$3,162.00	\$9,486.00	\$3,400.00	\$10,200.00	\$2,900.00	\$8,700.00
13. 12" AWWA GATE VA	LVE & BOX, COMPLETE IN PLACE	EA	1	\$3,783.50	\$3,783.50	\$3,875.00	\$3,875.00	\$4,000.00	\$4,000.00	\$3,600.00	\$3,600.00
14. 12" AWWA GATE VA PLACE	LVE & BOX WITH RESTRAINED JOINTS, COMPLETE IN	EA	2	\$3,783.50	\$7,567.00	\$4,234.00	\$8,468.00	\$4,100.00	\$8,200.00	\$4,100.00	\$8,200.00
	IIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE EAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$5,962.00	\$47,696.00	\$6,182.00	\$49,456.00	\$6,700.00	\$53,600.00	\$5,100.00	\$40,800.00
WATER SERVICE INC	OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9) LUDES METER BOX, CURB STOP, ALL NECESSARY APS, COMPLETE IN PLACE	EA	33	\$1,788.00	\$59,004.00	\$1,898.00	\$62,634.00	\$1,950.00	\$64,350.00	\$1,450.00	\$47,850.00
WATER SERVICE INC	OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), LUDES METER BOX, CURB STOP, ALL NECESSARY APS, COMPLETE IN PLACE	EA	25	\$1,063.50	\$26,587.50	\$996.00	\$24,900.00	\$1,000.00	\$25,000.00	\$1,000.00	\$25,000.00
18. PLUG & CLAMP WITH COMPLETE IN PLACE	H 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES,	EA	2	\$1,150.00	\$2,300.00	\$1,554.00	\$3,108.00	\$1,400.00	\$2,800.00	\$1,500.00	\$3,000.00
LINE, INCLUDES FITT	OF PROPOSED 8" WATER LINE TO EXISTING WATER INGS, ALL ADAPTERS AND CONNECTORS NECESSARY, KISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & IMPLETE IN PLACE	EA	1	\$607.80	\$607.80	\$1,542.00	\$1,542.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
LINE, INCLUDES FITT	OF PROPOSED 10" WATER LINE TO EXISTING WATER INGS, ALL ADAPTERS AND CONNECTORS NECESSARY, KISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & MPLETE IN PLACE	EA	1	\$810.40	\$810.40	\$1,902.00	\$1,902.00	\$600.00	\$600.00	\$1,700.00	\$1,700.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS JANUARY 07, 2025 LIA ENGINEERING, INC. A. GUIJOSA JANUARY 07, 2025 3141-3007 & 3141-3008 (9.2)

			[1) LEXTON CONSTRUCTION, LLC		2) TEXA	2) TEXASITE, LLC		3) R CONSTRUCTION CIVIL, LLC		4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
21	WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$911.70	\$911.70	\$2,262.00	\$2,262.00	\$700.00	\$700.00	\$1,800,00	\$1,800.00	
22	TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6084	\$0.10	\$608.40	\$1.00	\$6,084.00	\$0.10	\$608.40	\$1.00	\$6,084.00	
SUBTOT	AL BASE BID WATER ITEMS			-	\$371,912.70	-	\$389,465.00	_	\$412,283.40	-	\$426,824.00	
	D SANITARY SEWER ITEMS 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	751	\$42.60	\$31,992.60	\$45.00	\$33,795.00	\$46.00	\$34,546.00	\$60.00	\$45,060.00	
2	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1284	\$43.60	\$55,982.40	\$50.00	\$64,200.00	\$47.00	\$60,348.00	\$65.00	\$83,460.00	
3.	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1006	\$46.10	\$46,376.60	\$55.00	\$55,330.00	\$48.00	\$48,288.00	\$70.00	\$70,420.00	
4.	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 16' - 20' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	272	\$50.70	\$13,790.40	\$60.00	\$16,320.00	\$50.00	\$13,600.00	\$115.00	\$31,280.00	
5.	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	19	\$3,930.50	\$74,679.50	\$3,060.00	\$58,140.00	\$2,700.00	\$51,300.00	\$3,300.00	\$62,700.00	
6	EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	49	\$238.10	\$11,666.90	\$198.00	\$9,702.00	\$200.00	\$9,800.00	\$330.00	\$16,170.00	
7.	SHORT SIDE SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	27	\$1,555.00	\$41,985.00	\$1,600.00	\$43,200.00	\$1,800.00	\$48,600.00	\$2,200.00	\$59,400.00	
8	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	18	\$3,039.00	\$54,702.00	\$3,500.00	\$63,000.00	\$3,200.00	\$57,600.00	\$4,800.00	\$86,400.00	
9.	LONG SIDE DOUBLE OR SINGLE 8" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA		\$5,951.50	\$5,951.50	\$3,678.00	\$3,678.00	\$3,800.00	\$3,800.00	\$6,000.00	\$6,000.00	
10	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$805.40	\$3,221.60	\$745.00	\$2,980.00	\$550.00	\$2,200.00	\$1,100.00	\$4,400.00	
11	STANDARD DROP STRUCTURE ON EXISTING SANITARY SEWER MANHOLE FOR ALL PIPE SIZES, INCLUDES CORE INTO MANHOLE, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$805.40	\$1,610.80	\$1,026.00	\$2,052.00	\$1,900.00	\$3,800.00	\$2,300.00	\$4,600.00	
12	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,570.00	\$3,140.00	\$2,262.00	\$4,524.00	\$1,800.00	\$3,600.00	\$2,800.00	\$5,600.00	
13	ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, INCLUDES CEMENT STABILIZED SAND BACKFILL, COMPLETE IN PLACE	EA	6	\$217.80	\$1,306.80	\$100.00	\$600.00	\$1,500.00	\$9,000.00	\$1,550.00	\$9,300.00	
14	TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4641	\$1.00	\$4,641.00	\$1.00	\$4,641.00	\$0.10	\$464.10	\$1.00	\$4,641.00	
SUBTOT	AL BASE BID SANITARY SEWER ITEMS			-	\$351,047.10	-	\$362,162.00	-	\$346,946.10	_	\$489,431.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS JANUARY 07, 2025 LIA ENGINEERING, INC. A. GUIJOSA JANUARY 07, 2025 JANUARY 07, 2025 JA11-3007 & 3141-3008 (9.2)

			Γ	1) LEXTON CO	1) LEXTON CONSTRUCTION, LLC 2) TEXASITE, LLC		SITE, LLC	3) R CONSTRUCTION CIVIL, LLC		4) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	1S SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND PTHS, COMPLETE IN PLACE	LF	18	\$76.00	\$1,368.00	\$73.00	\$1,314.00	\$83.00	\$1,494.00	\$100.00	\$1,800.00
	SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND PTHS, COMPLETE IN PLACE	LF	1609	\$92.20	\$148,349.80	\$94.00	\$151,246.00	\$105.00	\$168,945.00	\$110.00	\$176,990.00
	SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND PTHS, COMPLETE IN PLACE	LF	356	\$113.50	\$40,406.00	\$116.00	\$41,296.00	\$128.00	\$45,568.00	\$135.00	\$48,060.00
	SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND PTHS, COMPLETE IN PLACE	LF	448	\$155.00	\$69,440.00	\$160.00	\$71,680.00	\$175.00	\$78,400.00	\$180.00	\$80,640.00
	SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND PTHS, COMPLETE IN PLACE	LF	499	\$238.10	\$118,811.90	\$250.00	\$124,750.00	\$260.00	\$129,740.00	\$280.00	\$139,720.00
	SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND PTHS, COMPLETE IN PLACE	LF	708	\$338.40	\$239,587.20	\$370.00	\$261,960.00	\$370.00	\$261,960.00	\$385.00	\$272,580.00
	NCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND DES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	24	\$2,938.00	\$70,512.00	\$3,720.00	\$89,280.00	\$3,500.00	\$84,000.00	\$3,400.00	\$81,600.00
	NCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND ES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$3,637.00	\$25,459.00	\$5,280.00	\$36,960.00	\$6,900.00	\$48,300.00	\$8,700.00	\$60,900.00
LARGER WITH RE	NCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND INFORCED CONCRETE TYPE "E" INLET TOP, ALL SIDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$4,153.50	\$12,460.50	\$5,760.00	\$17,280.00	\$7,500.00	\$22,500.00	\$9,600.00	\$28,800.00
SMALLER WITH F	NCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND REINFORCED CONCRETE TYPE "E" INLET TOP, ALL SIDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,986.50	\$7,973.00	\$4,200.00	\$8,400.00	\$5,000.00	\$10,000.00	\$4,800.00	\$9,600.00
	RCED CONCRETE TYPE "C" INLET, INCLUDES INLET RRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN	EA	14	\$1,464.00	\$20,496.00	\$1,920.00	\$26,880.00	\$1,300.00	\$18,200.00	\$1,650.00	\$23,100.00
12. STAGE II - REINFO COMPLETE IN PL	DRCED CONCRETE TYPE "C" INLET, ALL DEPTHS, ACE	EA	14	\$1,975.50	\$27,657.00	\$1,920.00	\$26,880.00	\$2,900.00	\$40,600.00	\$2,100.00	\$29,400.00
48" AND LARGER	RCED CONCRETE TYPE "C-1" INLET FOR STORM SEWERS , INCLUDES INLET PROTECTION BARRIER FOR STAGE I S, COMPLETE IN PLACE	EA	4	\$2,021.00	\$8,084.00	\$3,360.00	\$13,440.00	\$4,500.00	\$18,000.00	\$1,800.00	\$7,200.00
MINIMUM INSID	IED TYPE REINFORCED CONCRETE "C-1" INLET, (10' IE OPENING), INCLUDES INLET PROTECTION BARRIER FOR LL DEPTHS, COMPLETE IN PLACE	EA	3	\$1,464.00	\$4,392.00	\$1,920.00	\$5,760.00	\$1,700.00	\$5,100.00	\$2,200.00	\$6,600.00
	FIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' IE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$2,760.50	\$19,323.50	\$3,000.00	\$21,000.00	\$2,900.00	\$20,300.00	\$2,500.00	\$17,500.00
16. 8" BRICK PLUG F PLACE	OR 18" RCP STORM SEWER, ALL DEPTHS, COMPLETE IN	EA	1	\$506.50	\$506.50	\$702.00	\$702.00	\$600.00	\$600.00	\$1,000.00	\$1,000.00
	R 30" RCP STORM SEWER PER TXDOT DETAILS, INCLUDES APRON, COMPLETE IN PLACE	EA	1	\$2,532.50	\$2,532.50	\$5,400.00	\$5,400.00	\$7,800.00	\$7,800.00	\$20,000.00	\$20,000.00
	DSED 54" STORM SEWER TO EXISTING 54"STORM SEWER, ECESSARY CONNECTIONS, ALL DEPTHS, COMPLETE IN	EA	1	\$217.80	\$217.80	\$1,062.00	\$1,062.00	\$750.00	\$750.00	\$1,200.00	\$1,200.00
19. 18" THICK CONC IN PLACE	RETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE	SY	35	\$146.90	\$5,141.50	\$132.00	\$4,620.00	\$160.00	\$5,600.00	\$230.00	\$8,050.00
20. REGRADE AND R COMPLETE IN PL	E-ESTABLISH CREEK BANK, (AS DIRECTED BY ENGINEER), ACE	LS	1	\$253.30	\$253.30	\$100.00	\$100.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS JANUARY 07, 2025 LIA ENGINEERING, INC. A. GUIJOSA JANUARY 07, 2025 3141-3007 & 3141-3008 (9.2)

			Γ	1) LEXTON CONSTRUCTION, LLC 2) TEXASITE, LLC		3) R CONSTRUCTION CIVIL, LLC		4) CE BARKER LTD.			
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	TEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS,	LF	3638	\$1.00	\$3,638.00	\$1.00	\$3,638.00	\$0.10	\$363.80	\$1.00	\$3,638.00
SUBTOTAL BASE BID DRAINA				-	\$826,609.50	_	\$913,648.00	_	\$970,720.80		\$1,028,378.00
TRUCKS, (0.5 - 1 MIL PLACEMENT AND CO	S TO DESIGNATED DISPOSAL SITE, USING OFF ROAD E), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, DMPACTION TO 95% STANDARD PROCTOR DENSITY, LIFTS, AND RE-APPLICATION OF STRIPPINGS,	СҮ	5100	\$7.40	\$37,740.00	\$3.60	\$18,360.00	\$5.20	\$26,520.00	\$0.50	\$2,550.00
TRUCKS, (0.5 - 1 MIL PLACEMENT AND CO	S TO DESIGNATED DISPOSAL SITE, USING ON ROAD E), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, DMPACTION TO 95% STANDARD PROCTOR DENSITY, LIFTS, AND RE-APPLICATION OF STRIPPINGS,	LS	1	\$37,715.50	\$37,715.50	\$61,200.00	\$61,200.00	\$28,000.00	\$28,000.00	\$5,000.00	\$5,000.00
	LUDES PROCUREMENT OF WATER, (AT THE NGINEER), COMPLETE IN PLACE	LS	1	\$5,571.50	\$5,571.50	\$1,200.00	\$1,200.00	\$20,000.00	\$20,000.00	\$6,000.00	\$6,000.00
DRAGGING, AND OF	BBING, INCLUDES ROOT RAKING AND BACK FSITE DISPOSAL OF CLEARED AND GRUBBED CTED BY ENGINEER), COMPLETE IN PLACE	AC	2	\$15,100.00	\$30,200.00	\$500.00	\$1,000.00	\$10,000.00	\$20,000.00	\$8,000.00	\$16,000.00
	BILIZED SAND BACKFILL, (2 SACKS PER CY), (AS EER), COMPLETE IN PLACE	СҮ	15	\$30.00	\$450.00	\$30.00	\$450.00	\$30.00	\$450.00	\$30.00	\$450.00
6. ADJUST EXISTING M COMPLETE IN PLACE	ANHOLE RIM, (AS DIRECTED BY ENGINEER),	EA	1	\$250.00	\$250.00	\$1.00	\$1.00	\$500.00	\$500.00	\$750.00	\$750.00
	ITILITY LINES, ALL LINE SIZES, DEPTH 0'-16' (TO BE CTED BY THE ENGINEER), COMPLETE IN PLACE	LF	272	\$20.00	\$5,440.00	\$20.00	\$5,440.00	\$20.00	\$5,440.00	\$20.00	\$5,440.00
	ITILITY LINES, ALL LINE SIZES, DEPTH 16' AND ED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE	LF	3041	\$50.00	\$152,050.00	\$50.00	\$152,050.00	\$50.00	\$152,050.00	\$50.00	\$152,050.00
9. ADDITIONAL DUCTIL	E IRON FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	TON	0.01	\$10,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$100.00
	SAND CONSTRUCTION UNDER MANHOLE, (AS EER), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$50.00	\$50.00	\$500.00	\$500.00	\$50.00	\$50.00
	RM SEWER WET SAND CONSTRUCTION, ALL LINE (TO BE USED ONLY AT THE DIRECTION OF THE ETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
	ITARY SEWER WET SAND CONSTRUCTION, ALL LINE (TO BE USED ONLY AT THE DIRECTION OF THE ETE IN PLACE	LF	50	\$5.00	\$250.00	\$5.00	\$250.00	\$5.00	\$250.00	\$5.00	\$250.00
13. MAINTAIN EXISTING PLACE	STABILIZED CONSTRUCTION EXIT, COMPLETE IN	EA	1	\$2,125.00	\$2,125.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
14. INSTALL FILTER FABF PLACE	RIC FENCE (SILT BARRIER FENCING), COMPLETE IN	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$2.50	\$250.00	\$1.00	\$100.00
15. EXTRA INLET PROTEC PLACE	CTION BARRIER ON EXISTING INLET, COMPLETE IN	EA	1	\$10.00	\$10.00	\$10.00	\$10.00	\$60.00	\$60.00	\$10.00	\$10.00
16. INSTALL, MAINTAIN, COMPLETE IN PLACE	AND REMOVE CONCRETE TRUCK WASHOUT AREA,	EA	1	\$375.00	\$375.00	\$50.00	\$50.00	\$600.00	\$600.00	\$750.00	\$750.00
17. INSTALL REINFORCE COMPLETE IN PLACE	D FILTER FABRIC FENCE (SILT BARRIER FENCING),	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$60.00	\$6,000.00	\$1.00	\$100.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS JANUARY 07, 2025 LIA ENGINEERING, INC. A. GUIJOSA JANUARY 07, 2025 JANUARY 07, 2025 JA11-3007 & 3141-3008 (9.2)

			1) LEXTON CONSTRUCTION, LLC 2) TEXASITE, LLC		SITE, LLC	3) R CONSTRUCTION CIVIL, LLC		4) CE BARKER LTD.		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
 BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	AC	1	\$450.00	\$450.00	\$450.00	\$450.00	\$750.00	\$750.00	\$450.00	\$450.00
19. HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	AC	1	\$450.00	\$450.00	\$450.00	\$450.00	\$1,800.00	\$1,800.00	\$450.00	\$450.00
20. STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$2,550.00	\$2,550.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$500.00	\$500.00
SUBTOTAL BASE BID MISCELLANEOUS WS&D ITEMS			-	\$276,477.00	_	\$244,961.00		\$268,770.00		\$194,500.00
ALTERNATE BID FOR PAVING PAVING ITEMS 1. ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	СҮ	4200	\$2.00	\$8,400.00	\$3.57	\$14,994.00	\$2.00	\$8,400.00	\$2.50	\$10,500.00
2. EMBANKMENT, INCLUDES DEMUCKING, REMOVING AND DISPOSING OF EXISTING UNSUITABLE MATERIAL BEFORE PLACING FILL, HAULING, STRIPPING, STOCKPILING STRIPPINGS, PROOFROLLING, RE-APPLICATION OF STRIPPINGS TO FILL AREA, PLACEMENT AND COMPACTION TO 95% STANDARD PROCIDE NENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL GRADING, COMPLETE IN PLACE		4200	\$5.25	\$22,050.00	\$3.57	\$14,994.00	\$4.00	\$16,800.00	\$2.50	\$10,500.00
3. FINAL LOT AND RESERVE GRADING, COMPLETE IN PLACE	LS	1	\$30,000.00	\$30,000.00	\$23,257.50	\$23,257.50	\$31,000.00	\$31,000.00	\$20,000.00	\$20,000.00
 DEMUCK AND FILL EXISTING DRAINAGE SWALE, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE 	LF	515	\$44.00	\$22,660.00	\$29.14	\$15,007.10	\$3.00	\$1,545.00	\$9.00	\$4,635.00
5. EXCAVATION AND GRADING OF DRAINAGE SWALE, 4:1 MINIMUM SIDE SLOPE - 2' BOTTOM, (0'-2' DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 59% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	105	\$7.15	\$750.75	\$11.92	\$1,251.60	\$10.00	\$1,050.00	\$12.00	\$1,260.00
6. EXCAVATION AND GRADING OF DRAINAGE SWALE, 4:1 MINIMUM SIDE SLOPE - v-BOTTOM, (0'-2' DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	105	\$7.15	\$750.75	\$11.92	\$1,251.60	\$10.00	\$1,050.00	\$12.00	\$1,260.00
7. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	11465	\$53.25	\$610,511.25	\$54.60	\$625,989.00	\$53.50	\$613,377.50	\$69.00	\$791,085.00
8. 6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	13010	\$3.85	\$50,088.50	\$4.20	\$54,642.00	\$3.95	\$51,389.50	\$8.00	\$104,080.00
9. LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 23 LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	150	\$395.00	\$59,250.00	\$383.25	\$57,487.50	\$340.00	\$51,000.00	\$395.00	\$59,250.00
10. FLY ASH FOR 6" STABILIZED SUBGRADE PREPARATION, 33 LBS/SY, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	215	\$141.00	\$30,315.00	\$141.75	\$30,476.25	\$165.00	\$35,475.00	\$250.00	\$53,750.00
11. CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTIN REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	G LF	56	\$19.00	\$1,064.00	\$26.25	\$1,470.00	\$45.00	\$2,520.00	\$60.00	\$3,360.00
12. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4867	\$3.70	\$18,007.90	\$3.94	\$19,175.98	\$3.95	\$19,224.65	\$5.00	\$24,335.00
13. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2021	\$3.70	\$7,477.70	\$3.94	\$7,962.74	\$3.95	\$7,982.95	\$5.00	\$10,105.00
14. EA - ADA COMPLIANT TYPE 7 CONCRETE CURB RAMP, INCLUDES TRUNCATED DOME PAVERS WITH CONTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	10	\$1,600.00	\$16,000.00	\$1,680.00	\$16,800.00	\$2,200.00	\$22,000.00	\$1,900.00	\$19,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 4 MONTGOMERY-GRINES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS JANUARY 07, 2025 LIA ENGINEERING, INC. A. GUIJOSA JANUARY 07, 2025 JANUARY 07, 2025 JANUARY 07, 2025

			1) LEXTON CON	1) LEXTON CONSTRUCTION, LLC 2) TEXASITE, LLC		3) R CONSTRUCTION CIVIL, LLC		4) CE BARKER LTD.		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
15. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$12,600.00	\$12,600.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
16. 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	8	\$19.00	\$152.00	\$18.11	\$144.88	\$15.00	\$120.00	\$30.00	\$240.00
17. EXTRA TRAFFIC CONTROL SIGNS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,102.50	\$1,102.50	\$950.00	\$950.00	\$1,000.00	\$1,000.00
 METAL BEAM GUARD FENCE, INCLUDES DOWNSTREAM ANCHOR TERMINAL GF-31 (22), COMPLETE IN PLACE 	LF	50	\$153.80	\$7,690.00	\$304.50	\$15,225.00	\$165.00	\$8,250.00	\$600.00	\$30,000.00
19. 6" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	32	\$26.00	\$832.00	\$36.75	\$1,176.00	\$55.00	\$1,760.00	\$40.00	\$1,280.00
20. REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$25.00	\$50.00	\$26.25	\$52.50	\$100.00	\$200.00	\$650.00	\$1,300.00
SUBTOTAL ALTERNATE BID FOR PAVING PAVING ITEMS			-	\$893,549.85		\$915,060.15	-	\$884,094.60	_	\$1,166,940.00
BID SUMMARY										
BASE BID WATER ITEMS				\$371,912.70		\$389,465.00		\$412,283.40		\$426,824.00
BASE BID SANITARY SEWER ITEMS				\$351,047.10		\$362,162.00		\$346,946.10		\$489,431.00
BASE BID DRAINAGE ITEMS				\$826,609.50		\$913,648.00		\$970,720.80		\$1,028,378.00
BASE BID MISCELLANEOUS WS&D ITEMS				\$276,477.00		\$244,961.00		\$268,770.00		\$194,500.00
TOTAL AMOUNT BASE BID				\$1,826,046.30		\$1,910,236.00		\$1,998,720.30		\$2,139,133.00
ALTERNATE BID FOR PAVING										
TOTAL AMOUNT BASE BID				\$1,826,046.30		\$1,910,236.00		\$1,998,720.30		\$2,139,133.00
PAVING ITEMS				\$893,549.85		\$915,060.15		\$884,094.60		\$1,166,940.00
TOTAL ALTERNATE BID FOR PAVING PLUS BASE BID				\$2,719,596.15		\$2,825,296.15		\$2,882,814.90		\$3,306,073.00
TOTAL ALTERNATE BID FOR PAVING PLUS BASE BID \$2,719,596.15 \$2,825,296.15 \$2,882,814.90 \$3,306,073.00										